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Heater Element 1

Data
Fitted Curve: tau=2312.41±1.19, 
 A=32.39±0.011, B=85.62±0.020
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Heater Element 2
Data
Fitted Curve: tau=2303.62±1.14, 
 A=31.48±0.010, B=83.91±0.020
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Heater Element 3
Data
Fitted Curve: tau=2526.03±1.30, 
 A=34.28±0.012, B=86.77±0.020
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Heater Element 4
Data
Fitted Curve: tau=2463.61±1.24, 
 A=31.79±0.011, B=81.77±0.020
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Heater Element 5
Data
Fitted Curve: tau=2506.89±1.24, 
 A=30.89±0.010, B=87.30±0.020
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Heater Element 6
Data
Fitted Curve: tau=2572.36±1.20, 
 A=31.75±0.010, B=81.96±0.020

0 10000 20000 30000 40000
Time(s)

80

85

90

95

100

105

110

115

Re
sis

ta
nc

e 
(O

hm
)

Heater Element 7
Data
Fitted Curve: tau=2607.13±1.27, 
 A=31.68±0.010, B=80.65±0.020
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Heater Element 8
Data
Fitted Curve: tau=2424.11±1.27, 
 A=30.86±0.011, B=85.91±0.020


